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Year 4 Term 4

70 x 6 = ?
If I know 7 x 6 = 42

then I know 70 x 6 = 420
because it is ten times greater

7 x 10 x 6  

= 42 x 10
= 420     

3000 is one hundred times greater than 30
2 multiplied by one hundred is 200
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3 is one hundred times 
smaller than 300

 100s       10s         1s
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   252 ÷ 6 
= 240 ÷ 6 + 12 ÷ 6
= 40 + 2
= 42
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If I know 24 ÷ 6 = 4
then I also know

240 ÷ 6 = 40
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An acute angle is smaller than a right angle An obtuse angle is greater than a right angle

obtuse angle

obtuse angle

acute angle

acute angle

acute angleacute angle

obtuse angle

The greater the amount of turn 
the larger the angle

Smallest angle Largest angle

7 x 6 = 42 70 x 6 = 420
7 x 60 = 420
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